Clamp & Hardware Placement Guide for P/N 9191F-P UHWM Layer

#833-8 Cupped Washer <=
(ones with larger hole)
(mounts to 1 1/4” clamps
used to mount aluminum
skids)

#833 Cupped Washer
6x16mm Flange Bolts

@) @) @]
0] @)
O O Q ©
O
@]
919P2

#833 Cupped Washer O
6x16mm Flange Bolts

(used for all locations O O C
on this piece)
Lo @ o o

#833 Cupped Washer
6x16mm Flange Bolts

(used for all locations
on this piece)

f o o 0
O ©)
. o ° ©
@) )
919P3
& o #833 Cupped Washer
6x16mm Flange Bolts
) O O (used for all locations
on this piece)
5 5 © oJ
(@)




	5syo13oa18pnkxchzwyrj3hneudm4pnx_9191-P_HWguide

